
Spraying Systems Co.

c

DESCRIPTION:

REVISION NO.

REFERENCE:
SHEET:

Parts List No.

PL191016
DWG SIZE: A

1

09/19/24

CLIPPED HOSE BARB
FITTINGS AND ADAPTERS

1 OF 1 

ITEM PART NO. DESCRIPTION

1A 191016-90-750

FEMALE CLIPPED 3/4" 90° HOSE BARB KIT 

1B 191016-90-1000 FEMALE CLIPPED 1" 90° HOSE BARB KIT 

1C 191016-90-1250
FEMALE CLIPPED 1-1/4" 90° HOSE BARB KIT 

1D 191016-90-1500
FEMALE CLIPPED 1-1/2" 90° HOSE BARB KIT 

2A 191016-90-750

MALE CLIPPED 3/4" 90° HOSE BARB KIT 

2B 191016-90-1000 MALE CLIPPED 1" 90° HOSE BARB KIT 

2C 191016-90-1250
MALE CLIPPED 1-1/4" 90° HOSE BARB KIT 

2D 191016-90-1500
MALE CLIPPED 1-1/2" 90° HOSE BARB KIT 

3

191016-LQ FEMALE TO MALE LARGE QUICK CONNECT ADAPTER KIT

4 191016-M CLIPPED DOUBLE MALE ADAPTER KIT

5

191016-LQM MALE TO MALE LARGE QUICK CONNECT ADAPTER KIT

6 191016-P CLIPPED PLUG KIT

7 191017-C CLIPPED CAP KIT 

8A

(B)191016-1/4
FEMALE CLIPPED 1/4" N.P.T GAUGE PORT/THREADED INLET

8B

(B)191016-3/4 FEMALE CLIPPED 3/4" N.P.T GAUGE PORT/THREADED INLET

9A

(B)191016-1/4M MALE CLIPPED 1/4" N.P.T GAUGE PORT/THREADED INLET

9B

(B)191016-3/4M MALE CLIPPED 3/4" N.P.T GAUGE PORT/THREADED INLET

10 CP58439-302SS-5X

5 PACK RETAINING CLIP, STAINLESS STEEL

11 CP7717-M40x4-VI-5X

5 PACK O-RING, FKM

*(B) = BSPT

*ALL KITS INCLUDE ITEMS 10 AND 11

*ITEM 4 INCLUDED WITH KITS 2A, 2B, 2C, 2D

1A, 1B, 1C, 1D
2A, 2B, 2C, 2D

3

4
5

6

7

8A, 8B

9A, 9B

10

11


